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4.2 N

T = Kx (F/n)x d= 0.199%x (4.2x 103/3)>< 1671000 4.5N m
35.5 N
T = Kx (F/n)x d= 0.199% (35.5x% 103/3)>< 1671000 37.7N m
=16 mm
n=3
K=0.199 JIS B 1083 0.15
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63.2kg 1.326kg 0.7kg
0.35kg/mx 2m F1  F2 65.3kg

W F1C ) F2( )
)

F1 65.

82 67°
v
F2 65.3kg

( JF1

61 77°

F1H F1x cosB 1 65.3% cos77°  14.68 kg

F1v F1x sind 1 65.3x sin77°  63.62 kg
( JF2

62 67°

F2H F2x cosB 2 65.3% cos67°  25.51 kg

F2v F2x sin@ 2 65.3x sin67°  60.10 kg
() W

WH FIH F2H 14.68 25.51 40.2 kg

WV F1V  F2v 63.62 60.10 3.6 kg

WV (WH W2 v (40.22 3.62)  40.4 kg
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F1 65.

Mp

Mp = Wx (20 €1)

W 40.4(kg)

Mp = 40.4x (80 £1) = 1.63x 10* (kg-mm) X
F2 65.3k
Zp g
Zp = (mm /(32x do))x (d0* - di?)

1.73x 10° mm®

op
op = Mp+ Zp = (1.63x 109+ (1.73x 10%) = 9.42 (kg/mm?)

02 67°
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MF WE
MF
Wfx g1

2.013x 10° (kg-mm)
Zp
(1t /(32% do))x (do* - di?)
1.73x 10% mm®
of
MF+ Zp = (2.013x 10%)= (1.73x 10%) = 1.16 (kg/mm2)
Mp MF

op of=942 1.16 = 10.58 (kg/mm?)

o p_allow 18.0 kg/mm?
10.6 (kg/mm?) 18.0 (kg/mm») = o p allow




